# Characterization Of Quasi Lindley Distribution By Truncated Moments And Conditional Expectation Of Order Statistics* 

Mohammad Faizan ${ }^{\dagger}$, Mohd. Amir Ansari ${ }^{\ddagger}$, Zaki Anwar ${ }^{\S}$

Received 8 December 2021


#### Abstract

In this paper, three characterization results of Quasi Lindley distribution are obtained. The first two characterization results are based on relation between truncated moments and failure rate functions. The third characterization result is based on conditional expectation of adjacent order statistics. Further, some of its important deductions are also discussed.


## 1 Introduction

Characterization of a probability distribution plays an important role in probability and statistics. Before a particular probability distribution model is applied to fit the real world data, it is necessary to confirm whether the given probability distribution satisfies the underlying requirements by its characterization. A probability distribution can be characterized through various methods. There has been a great interest, in recent years, in the characterizations of probability distributions by truncated moments (see, for example Hamedani (2011), Hamedani and Ghosh (2015), Ahsnullah and Shakil (2015), Ahsnullah et al. (2016), Shakil et al. (2016) amongst others).

Lindley distribution was introduced by Lindley (1958). A random variable $X$ is said to have Lindley distribution with parameter $\theta$ if its probability density function $(p d f)$ is of the form

$$
\begin{equation*}
f(x)=\frac{\theta^{2}}{1+\theta}(1+x) e^{-\theta x} ; x>0, \theta>0 \tag{1}
\end{equation*}
$$

Its distribution function $(d f)$ is

$$
\begin{equation*}
F(x)=1-\frac{\theta+1+\theta x}{1+\theta x} e^{-\theta x} ; x>0, \theta>0 . \tag{2}
\end{equation*}
$$

Ghitany et al. (2008) have discussed various properties of this distribution and showed that in many ways (1) provides a better model for some applications than the exponential distribution. Shankar and Mishra (2013) introduced a two-parameter distribution called quasi Lindley distribution (QLD) with parameters $\alpha$ and $\theta$. Its $p d f$ is given by

$$
\begin{equation*}
f(x ; \alpha, \theta)=\frac{\theta(\alpha+\theta x)}{\alpha+1} e^{-\theta x} ; x>0, \theta>0, \alpha>-1 \tag{3}
\end{equation*}
$$

and the $d f$ is

$$
\begin{equation*}
F(x ; \alpha, \theta)=1-\frac{1+\alpha+\theta x}{\alpha+1} e^{-\theta x} ; x>0, \theta>0, \alpha>-1 . \tag{4}
\end{equation*}
$$

It can easily be seen that at $\alpha=\theta$, the QLD reduces to the Lindley distribution and at $\alpha=0$, it reduces to the gamma distribution with parameters $(2, \theta)$. Shanker and Mishra (2013) have discussed its various

[^0]properties and showed that this QLD is a better model than the Lindley distribution for modeling waiting and survival times data. The failure rate function ( $f r f$ ) of QLD is given by
\[

$$
\begin{equation*}
r(x)=\frac{f(x)}{1-F(x)}=\frac{\theta(\alpha+\theta x)}{1+\alpha+\theta x} \tag{5}
\end{equation*}
$$

\]

The reverse failure rate function ( $r f r f$ ) of QLD is given by

$$
\begin{equation*}
\eta(x)=\frac{f(x)}{F(x)}=\frac{\theta(\alpha+\theta x)}{(1+\alpha) e^{\theta x}-(1+\alpha+\theta x)} \tag{6}
\end{equation*}
$$

The $k$-th moment (about the origin) of QLD is given by [Shankar and Mishra (2013)]

$$
\begin{equation*}
E\left[X^{k}\right]=\frac{k!(k+1+\alpha)}{(\alpha+1) \theta^{k}} \tag{7}
\end{equation*}
$$

Ahsanullah et al. (2017) have given the characterization results for Lindley distribution. They characterized Lindley distribution through left and right truncated moments. Kilany (2017) characterized Lindley distribution by conditional expectation of order statistics. In this paper, we have obtained characterization results for quasi Lindley distribution.

## 2 Characterizations Through Truncated Moments

First, we give the following two lemmas which are used to prove Theorems 1 and 2 respectively.
Lemma 1 (Ahsanullah et al. (2017)) Suppose that the random variable $X$ has an absolutely continuous df $F(x)$ with $F(0)=0, F(x)>0$ for all $x$, pdf $f(x)=F^{\prime}(x)$, frf $r(x)=\frac{f(x)}{1-F(x)}$. Let $g(x)$ be a continuous function in $x>0$ and $0<E[g(X)]<\infty$. If

$$
E[g(x) \mid X>x]=h(x) r(x) \quad x>0
$$

where $h(x)$ is a differentiable function in $x>0$, then

$$
f(x)=K \exp \left(-\int_{0}^{x} \frac{g(y)+h^{\prime}(x)}{h(y)} d y\right), \quad x>0
$$

where $K>0$ is a normalizing constant.
Lemma 2 (Ahsanullah et al. (2017)) Suppose that the random variable $X$ has an absolutely continuous $d f F(x)$ with $F(0)=0, F(x)>0$ for all $x$, pdf $f(x)=F^{\prime}(x)$, rfrf $\eta(x)=\frac{f(x)}{F(x)}$. Let $g(x)$ be a continuous function in $x>0$ and $0<E[g(X)]<\infty$. If

$$
E[g(x) \mid X>x]=w(x) \eta(x) \quad x>0
$$

where $w(x)$ is a differentiable function in $x>0$, then

$$
f(x)=K \exp \left(-\int_{0}^{x} \frac{w^{\prime}(x)-g(y)}{w(y)} d y\right), \quad x>0
$$

where $K>0$ is a normalizing constant.
Theorem 1 Suppose that the random variable $X$ has absolutely continuous distribution with the pdf $f(x)$ and the df $F(x)$ with $F(0)=0, F(x)>0$ for all $x$ and the frf, $r(x)=\frac{f(x)}{1-F(x)}$. Assume that $0<E\left[X^{k}\right]<\infty$, then for a given positive integer $k, X$ has pdf given in (3) if and only if

$$
\begin{equation*}
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{(\alpha+\theta x)} \sum_{j=0}^{k+1} \mu_{j} x^{j} \tag{8}
\end{equation*}
$$

where $\mu_{0}=\frac{k!(k+1+\alpha)}{\theta^{k+1}}, \mu_{j}=\frac{k!(k+1+\alpha)}{j!\theta^{k-j+1}}, \mu_{j+1}=\frac{\theta}{j+1} \mu_{j}, j=0,1,2, \ldots k-1$ and $\mu_{k+1}=1$.

Proof. First we will prove (3) implies (8). Suppose $X$ has $p d f$ given in (3), we have

$$
\begin{equation*}
E\left[X^{k} \mid X \geq x\right]=\frac{1}{1-F(x)} \int_{x}^{\infty} y^{k} f(y) d y \tag{9}
\end{equation*}
$$

From relation among and $p d f, d f$ and $f r f$, we have

$$
\begin{equation*}
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{f(x)} \int_{x}^{\infty} y^{k} f(y) d y \tag{10}
\end{equation*}
$$

Using (3), we have

$$
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{(\alpha+\theta x) e^{-\theta x}}\left[\int_{x}^{\infty}(\alpha+\theta y) y^{k} e^{-\theta y} d y\right]
$$

or

$$
\begin{equation*}
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{(\alpha+\theta x) e^{-\theta x}}\left[\alpha \int_{x}^{\infty} y^{k} e^{-\theta y} d y+\theta \int_{x}^{\infty} y^{k+1} e^{-\theta y} d y\right] \tag{11}
\end{equation*}
$$

Gradshteyn and Ryzhik (2007) (pg-340) have given the following result

$$
\begin{equation*}
\int_{u}^{\infty} x^{n} e^{-\mu x} d x=e^{-\mu u} \sum_{k=0}^{n} \frac{n!}{k!} \frac{u^{k}}{\mu^{n-k+1}} \tag{12}
\end{equation*}
$$

Using (12) in (11), we have

$$
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{(\alpha+\theta x) e^{-\theta x}}\left[\alpha e^{-\theta x} \sum_{j=0}^{k} \frac{k!}{j!} \frac{x^{j}}{\theta^{k-j+1}}+\theta e^{-\theta x} \sum_{j=0}^{k+1} \frac{(k+1)!}{j!} \frac{x^{j}}{\theta^{k+1-j+1}}\right]
$$

which reduces to

$$
\begin{equation*}
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{(\alpha+\theta x)}\left[\alpha \sum_{j=0}^{k} \frac{k!(k+1+\alpha)}{j!} \frac{x^{j}}{\theta^{k-j+1}}+x^{k+1}\right] \tag{13}
\end{equation*}
$$

And after simplification, we have

$$
E\left[X^{k} \mid X \geq x\right]=\frac{r(x)}{(\alpha+\theta x)} \sum_{j=0}^{k+1} \mu_{j} x^{j}
$$

where $\mu_{0}=\frac{k!(k+1+\alpha)}{\theta^{k+1}}, \mu_{j}=\frac{k!(k+1+\alpha)}{j!\theta^{k-j+1}}, \mu_{j+1}=\frac{\theta}{j+1} \mu_{j}, j=0,1,2, \ldots k-1$ and $\mu_{k+1}=1$ and hence the necessary part. For sufficiency part let

$$
\begin{equation*}
g(x)=x^{k} \quad \text { and } \quad h(x)=\frac{1}{(\alpha+\theta x)} \sum_{j=0}^{k+1} \mu_{j} x^{j} \tag{14}
\end{equation*}
$$

Using the recurrence relations of the $\mu_{j}$ 's, we have

$$
\begin{equation*}
\theta \sum_{j=0}^{k+1} \mu_{j} x^{j}-\sum_{j=}^{k+1} j \mu_{j} x^{j-1}=\sum_{j=0}^{k 11}\left[\theta \mu_{j}-(j+1) \mu_{j+1}\right] x^{j}+\left[\theta \mu_{k}-(k+1) \mu_{k+1}\right] x^{k}+\theta \mu_{k+1} x^{k+1}=(\alpha+\theta x) x^{k} \tag{15}
\end{equation*}
$$

From equations (14) and (15), we have

$$
\begin{equation*}
\frac{g(x)}{h(x)}=\frac{(\alpha+\theta x) x^{k}}{\sum_{j=0}^{k+1} \mu_{j} x^{j}}=\frac{\theta \sum_{j=0}^{k+1} \mu_{j} x^{j}-\sum_{j=}^{k+1} j \mu_{j} x^{j-1}}{\sum_{j=0}^{k+1} \mu_{j} x^{j}}=\theta-\frac{\sum_{j=}^{k+1} j \mu_{j} x^{j-1}}{\sum_{j=0}^{k+1} \mu_{j} x^{j}} \tag{16}
\end{equation*}
$$

Also from equation (14), we have

$$
\begin{equation*}
\ln [h(x)]=-\ln [\alpha+\theta x]+\ln \left[\sum_{j=0}^{k+1} \mu_{j} x^{j}\right] . \tag{17}
\end{equation*}
$$

Differentiating (17) with respect to $x$, we have

$$
\begin{equation*}
\frac{h^{\prime}(x)}{h(x)}=\frac{\sum_{j=1}^{k+1} j \mu_{j} x^{j-1}}{\sum_{j=0}^{k+1} \mu_{j} x^{j}}-\frac{\theta}{(\alpha+\theta x)} \tag{18}
\end{equation*}
$$

Using (16) and (18), we have

$$
\begin{equation*}
\frac{h^{\prime}(x)+g(x)}{h(x)}=-\frac{\theta}{(\alpha+\theta x)}+\theta . \tag{19}
\end{equation*}
$$

Integrating equation (19) over $(0, x)$, we have

$$
\begin{equation*}
\int_{0}^{x} \frac{h^{\prime}(y)+g(y)}{h(y)} d y=\int_{0}^{x}\left(-\frac{\theta}{(\alpha+\theta y)}+\theta\right) d y=\ln [\alpha+\theta x]+\ln \alpha+\theta x \tag{20}
\end{equation*}
$$

From Lemma 1 and (20), we have

$$
\begin{equation*}
f(x)=C \exp \left(\int_{0}^{x} \frac{h^{\prime}(y)+g(y)}{h(y)} d y\right)=C \exp [-\{-\ln [\alpha+\theta x]+\ln \alpha+\theta x\}]=\frac{C}{\alpha}(\alpha+\theta x) e^{-\theta x} \tag{21}
\end{equation*}
$$

where C is normalizing constant such that $\int_{0}^{\infty} f(x) d x=1$ which gives $C=\frac{\alpha \theta}{(\alpha+1)}$. Therefore, from (21), we get

$$
f(x)=\frac{\theta(\alpha+\theta x)}{\alpha+1} e^{-\theta x}
$$

which is the $p d f$ of QLD given in (3) and hence sufficiency part.
Remark 1 Putting $\alpha=\theta$ in Theorem 1, we get the characterization result for Lindley distribution as obtained by Ahsanullah et al. (2017).

Remark 2 Putting $\alpha=0$ in Theorem 1, we get the characterization result for gamma $(2, \theta)$ distribution.
Theorem 2 Suppose that the random variable $X$ has absolutely continuous distribution with the pdf $f(x)$ and the df $F(x)$ with $F(0)=0, F(x)>0$ for all $x>0$ and the reversed failure rate function $(r f r f), \eta(x)=\frac{f(x)}{F(x)}$. Assume that $0<E\left[X^{k}\right]<\infty$, then for a given positive integer $k, X$ has pdf given in (3) if and only if

$$
\begin{equation*}
E\left[X^{k} \mid X \leq x\right]=\frac{\eta(x)}{(\alpha+\theta x)}\left(\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}\right) \tag{22}
\end{equation*}
$$

where $\mu_{0}=\frac{k!(k+1+\alpha)}{\theta^{k+1}}, \mu_{j}=\frac{k!(k+1+\alpha)}{j!\theta^{k-j+1}}, \mu_{j+1}=\frac{\theta}{j+1} \mu_{j}, j=0,1,2, \ldots k-1$ and $\mu_{k+1}=1$.
Proof. First we will prove (3) implies (22). Suppose $X$ has $p d f$ given in (3), we have

$$
\begin{equation*}
E\left[X^{k} \mid X \leq x\right]=\frac{1}{F(x)} \int_{0}^{x} y^{k} f(y) d y \tag{23}
\end{equation*}
$$

From relation among $p d f, d f$ and $r f r f$, we have

$$
\begin{equation*}
E\left[X^{k} \mid X \leq x\right]=\frac{\eta(x)}{f(x)} \int_{0}^{x} y^{k} f(y) d y \tag{24}
\end{equation*}
$$

Using (3) in (24), we have From relation among $p d f, d f$ and $r f r f$, we have

$$
E\left[X^{k} \mid X \leq x\right]=\frac{\eta(x)}{(\alpha+\theta x) e^{-\theta x}} \int_{0}^{x}(\alpha+\theta y) y^{k} e^{-\theta y} d y
$$

or

$$
\begin{equation*}
E\left[X^{k} \mid X \leq x\right]=\frac{\eta(x)}{(\alpha+\theta x) e^{-\theta x}}\left[\alpha \int_{0}^{x} y^{k} e^{-\theta y} d y+\theta \int_{0}^{x} y^{k+1} e^{-\theta y} d y\right] \tag{25}
\end{equation*}
$$

Gradshteyn and Ryzhik (2007) (pg-340) have given the following result

$$
\begin{equation*}
\int_{0}^{u} x^{n} e^{-\mu x} d x=\frac{n!}{\mu^{n+1}}-e^{-\mu u} \sum_{k=0}^{n} \frac{n!}{k!} \frac{u^{k}}{\mu^{n-k+1}} \tag{26}
\end{equation*}
$$

From (25) and (26), we have

$$
E\left[X^{k} \mid X \leq x\right]=\frac{\eta(x)}{(\alpha+\theta x)}\left[\frac{k!(k+1+\alpha)}{\theta^{k+1}} e^{\theta x}-\sum_{j=0}^{k} \frac{k!(k+1+\alpha)}{j!} \frac{x^{j}}{\theta^{k-j+1}}-x^{k+1}\right]
$$

which reduces to

$$
E\left[X^{k} \mid X \leq x\right]=\frac{\eta(x)}{(\alpha+\theta x)}\left(\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}\right)
$$

where $\mu_{0}=\frac{k!(k+1+\alpha)}{\theta^{k+1}}, \mu_{j}=\frac{k!(k+1+\alpha)}{j!\theta^{k-j+1}}, \mu_{j+1}=\frac{\theta}{j+1} \mu_{j}, j=0,1,2, \ldots k-1$ and $\mu_{k+1}=1$ and hence if part. For sufficient part Let

$$
\begin{equation*}
g(x)=x^{k} \text { and } w(x)=\frac{1}{(\alpha+\theta x)}\left[\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}\right] \tag{27}
\end{equation*}
$$

From (27) and (15), we have

$$
\begin{equation*}
\frac{g(x)}{w(x)}=\frac{(\alpha+\theta x) x^{k}}{\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}}=\frac{\theta \sum_{j=0}^{k+1} \mu_{j} x^{j}-\sum_{j=1}^{k+1} j \mu_{j} x^{j-1}}{\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}}=\frac{\theta \mu_{0} e^{\theta x}-\sum_{j=1}^{k+1} j \mu_{j} x^{j-1}}{\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}}-\theta \tag{28}
\end{equation*}
$$

Also from equation (27), we have

$$
\begin{equation*}
\ln [w(x)]=-\ln (\alpha+\theta x)+\ln \left(\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}\right) \tag{29}
\end{equation*}
$$

Differentiating equation (29) w.r.t. $x$, we have

$$
\begin{equation*}
\frac{w^{\prime}(x)}{w(x)}=-\frac{\theta}{(\alpha+\theta x)}+\frac{\theta \mu_{0} e^{\theta x}-\sum_{j=1}^{k+1} j \mu_{j} x^{j-1}}{\mu_{0} e^{\theta x}-\sum_{j=0}^{k+1} \mu_{j} x^{j}}=-\frac{\theta}{(\alpha+\theta x)}+\frac{g(x)}{w(x)}+\theta \tag{30}
\end{equation*}
$$

From equations (28) and (30), we have

$$
\begin{equation*}
\frac{w^{\prime}(x)-g(x)}{w(x)}=-\frac{\theta}{(\alpha+\theta x)}+\theta \tag{31}
\end{equation*}
$$

Integrating equation (31) over $(0, x)$, we have

$$
\begin{equation*}
\int_{0}^{x} \frac{w^{\prime}(y)-g(y)}{w(y)} d y=\int_{0}^{x}\left(-\frac{\theta}{(\alpha+\theta y)}+\theta\right) d y=-\ln [(\alpha+\theta x)]+\ln \alpha+\theta x \tag{32}
\end{equation*}
$$

From Lemma 2 and (32), we have

$$
\begin{equation*}
f(x)=C \exp \left(-\int_{0}^{x} \frac{w^{\prime}(y)-g(y)}{w(y)} d y\right)=C \exp (\ln [(\alpha+\theta x)]-\ln \alpha-\theta x)=\frac{C}{\alpha}(\alpha+\theta x) e^{-\theta x} \tag{33}
\end{equation*}
$$

where $C$ is normalizing constant such that $\int_{0}^{\infty} f(x) d x=1$ which gives $C=\frac{\alpha \theta}{(\alpha+1)}$. Therefore, from (33), we get

$$
f(x)=\frac{\theta(\alpha+\theta x)}{(\alpha+1)} e^{-\theta x}
$$

which is the $p d f$ of QLD given in (3) and hence the sufficiency part.
Remark 3 Putting $\alpha=\theta$ in Theorem 2, we get the characterization result for Lindley distribution as obtained by Ahsanullah et al. (2017).

Remark 4 Putting $\alpha=0$ in Theorem 2, we get the characterization result for gamma $(2, \theta)$ distribution.

## 3 Characterization Through Order Statistics

Let $X_{1: n} \leq X_{2: n} \leq \ldots \leq X_{n: n}$ be the order statistics from an absolutely continuous population with $d f F(x)$ and $p d f f(x)$. Then the conditional $p d f$ of $X_{r+1: n}$ given $X_{r: n}$ is equal to [David and Nagaraja (2003)]

$$
\begin{equation*}
(n-r)\left[\frac{1-F(y)}{1-F(x)}\right]^{n-r-1} \frac{f(y)}{1-F(x)}, x \leq y \tag{34}
\end{equation*}
$$

Theorem 3 Let $X$ be a continuous random variable with $d f F(x)$ and $p d f f(x)$. Then for $r<n$

$$
\begin{equation*}
E\left[X_{r+1: n} \mid X_{r: n}=x\right]=x+\frac{\Gamma[n-r+1,(n-r)(1+\alpha+\theta x)]}{\theta(n-r)^{n-r+1}(1+\alpha+\theta x)^{n-r} e^{-(n-r)(1+\alpha+\theta x)}}, r=1,2, . ., n-1 \tag{35}
\end{equation*}
$$

if and only if $X$ has the df given in (4).
Proof. First we will prove (4) implies (35). We have from equation (34),

$$
\begin{equation*}
E\left[X_{r+1: n} \mid X_{r: n}=x\right]=\frac{(n-r)}{[1-F(x)]^{n-r}} \int_{x}^{\beta} y[1-F(y)]^{n-r-1} f(y) d y \tag{36}
\end{equation*}
$$

From (3) and (4), we have

$$
\begin{equation*}
E\left[X_{r+1: n} \mid X_{r: n}=x\right]=\frac{(n-r) \theta}{\left[(1+\alpha+\theta x) e^{-\theta x}\right]} \int_{x}^{\infty} y[(1+\alpha+\theta y)]^{n-r}(\alpha+\theta y) e^{-\theta y} d y \tag{37}
\end{equation*}
$$

Integrating equation (37) by parts and then rearranging, we have

$$
E\left[X_{r+1: n} \mid X_{r: n}=x\right]=x+\frac{\int_{x}^{\infty}(1+\alpha+\theta y) e^{-\theta(n-r) y} d y}{\left[(1+\alpha+\theta x) e^{-\theta x}\right]^{n-r}}
$$

which reduces to

$$
\begin{equation*}
E\left[X_{r+1: n} \mid X_{r: n}=x\right]=x+\frac{\Gamma[n-r+1,(n-r)(1+\alpha+\theta x)]}{\theta(n-r)^{n-r+1}(1+\alpha+\theta x)^{n-r} e^{-(n-r)(1+\alpha+\theta x)}} \tag{38}
\end{equation*}
$$

and hence necessary part. For sufficiency part, Let

$$
\begin{equation*}
E\left[X_{r+1: n} \mid X_{r: n}=x\right]=\phi(x)=1+\omega(x) \tag{39}
\end{equation*}
$$

where

$$
\omega(x)=\frac{\Gamma[n-r+1,(n-r)(1+\alpha+\theta x)]}{\theta(n-r)^{n-r+1}(1+\alpha+\theta x)^{n-r} e^{-(n-r)(1+\alpha+\theta x)}}
$$

From (39), we have

$$
\phi^{\prime}(x)=1+\omega^{\prime}(x)
$$

Then, it is seen that

$$
\int \frac{\phi^{\prime}(t)}{\phi(t)-t} d t=\int \frac{1+\omega^{\prime}(t)}{\omega(t)} d t=\int \frac{d t}{\omega(d t)}+\int \frac{\omega^{\prime}(t)}{\omega(t)} d t
$$

From equation (39), we have

$$
\begin{equation*}
\int \frac{\phi^{\prime}(t)}{\phi(t)-t} d t=\int \frac{\Gamma[n-r+1,(n-r)(1+\alpha+\theta t)]}{\theta(n-r)^{n-r+1}(1+\alpha+\theta t)^{n-r} e^{-(n-r)(1+\alpha+\theta t)}} d t+\ln [\omega(t)] \tag{40}
\end{equation*}
$$

Abramowitz and Stegun (1972) (pg-262) have given the result

$$
\begin{equation*}
\gamma(a, x)=\frac{\partial \Gamma(a, x)}{\partial x}=x^{a-1} e^{-x} \tag{41}
\end{equation*}
$$

From (40) and (41), we have

$$
\int \frac{\phi^{\prime}(t)}{\phi(t)-t} d t=-\ln \Gamma[n-r+1,(n-r)(1+\alpha+\theta t)]+\ln \left[\frac{\Gamma[n-r+1,(n-r)(1+\alpha+\theta t)]}{\theta(n-r)^{n-r+1}(1+\alpha+\theta t)^{n-r} e^{-(n-r)(1+\alpha+\theta t)}}\right]
$$

or

$$
\begin{equation*}
\int \frac{\phi^{\prime}(t)}{\phi(t)-t} d t=-\ln \left[\theta(n-r)^{n-r+1}(1+\alpha+\theta t)^{n-r} e^{-(n-r)(1+\alpha+\theta t)}\right] \tag{42}
\end{equation*}
$$

Taking the limits of integral in (42) from 0 to $x$, we have

$$
\begin{equation*}
\int_{0}^{x} \frac{\phi^{\prime}(t)}{\phi(t)-t} d t=\ln \left[\left\{\frac{1+\alpha}{(1+\alpha+\theta x) e^{-\theta x}}\right\}^{n-r}\right] \tag{43}
\end{equation*}
$$

Using the result given by Khan and Abu-Salih (1989), (43) reduced to

$$
[1-F(x)]^{n-r}=\exp \left[-\ln \left[\left\{\frac{1+\alpha}{(1+\alpha+\theta x) e^{-\theta x}}\right\}^{n-r}\right]\right]=\left[\frac{1+\alpha+\theta x}{1+\alpha} e^{-\theta x}\right]^{n-r}
$$

which reduces to

$$
F(x)=1-\frac{(1+\alpha+\theta x)}{1+\alpha} e^{-\theta x}
$$

and hence the Theorem.

Remark 5 Putting $\alpha=\theta$ in Theorem 3, we get the characterization result for Lindley distribution as obtained by Kilany (2017).

Remark 6 Putting $\alpha=0$ in Theorem 3, we get the characterization result for gamma (2, $\theta)$ distribution.

Acknowledgment. The authors are thankful to the Editor and the Referees for their fruitful suggestions and comments.

## References

[1] A. H. Khan and M. S. Abu-Salih, Characterizations of probability distributions by conditional expectation of order statistics, Metron, 47(1989), 171-181.
[2] D. V. Lindley, Fiducial distributions and Bayes's Theorem, J. R. Stat. Soc. Series B, 20(1958), 102-107.
[3] G. G. Hamedani and I. Ghosh, Kumaraswamy-Half-Cauchy distribution: characterizations and related results, Int. j. probab. Stat., 4(2015), 94-100.
[4] G. G. Hamedani, Characterizations of the Shakil-Kibria-Singh distribution, Austrian J. Stat., 40(2011), 201-207.
[5] I. S. Gradshteyn and I. M. Ryzhik, Table of Integrals, Series, and Products, Academic Press, New York, 2007.
[6] M. Abramowitz and I. A. Stegun, Handbook of Mathematical Functions with Formulas, Graphs and Mathematical Tables, National Bureau of Standards Applied Mathematics Series, No. 55 U. S. Government Printing Office, Washington, D.C., 1972.
[7] M. Ahsanullah and M. Shakil, Characterizations of continuous probability distributions occurring in physics and allied sciences by truncated moment, Int. J. Adv. Stat. and Probab., 3(2015), 100-114.
[8] M. Ahsanullah, M. Shakil and B. M. Golam Kibria, Characterizations of continuous distributions by truncated moment, J. Mod. Appl. Stat. Methods., 15(2016), 316-331.
[9] M. Ahsanullah, M. E. Ghitany and D. K. Al-Mutairi, Characterization of Lindley distribution by truncated moments, Commun. Stat.-Theory Methods., 46(2017), 6222-6227.
[10] M. Shakil, B. M. Golam Kibria and J. N. Singh, Characterization of a new class of generalized Pearson distribution by truncated moment, J. comput. theor. Stat., 3(2016), 91-100.
[11] M. E. Ghitany, B. Atieh and S. Nadarajah, Lindley distribution and its applications, Math. Comput. Simul., 78(2008), 493-506.
[12] N. M. Kilany, Characterization of Lindley distribution based on truncated moments of order statistics, J. Stat. Appl. Probab., 6(2017), 1-6.
[13] R. Shanker and A. Mishra, A quasi Lindley distribution, Afr. J. Math. Comput. Sci. Res., 6(2013), 64-71.


[^0]:    ${ }^{*}$ Mathematics Subject Classifications: 60E05, 62E10.
    $\dagger$ Department of Statistics and O.R. Aligarh Muslim University, Aligarh, India
    $\ddagger$ Department of Statistics and O.R. Aligarh Muslim University, Aligarh, India
    §Department of Statistics and O.R. Aligarh Muslim University, Aligarh, India

